
When (2x 3−x 2+ax+
12) is divided by (x+1),

the remainder is 2. Find a.

(x+
1) i

s a
fac

tor
of (

3x
3 +ax

2 +x+
1).

Fin
d a

.
When(x

3+x
2+5x+a)isdividedby(x−1),

theremainderis4.Finda.

(x−
1)

is
a
factor

of
(x

3+
2x

2−
4x+

a).
F
ind

a.

(x−2)isafactorof(x
3−x

2+x+a).

Finda.

W
he

n
(3
x3
−
2x

2
+
ax
+
7)

is
di
vi
de
d
by

(x
−
1)
,

th
e
re
m
ai
nd

er
is

1.
F
in
d
a.
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(x
+
1)

is
a
fa
ct
or

of
(3
x3
−
x2
+
a)
.

F
in
d
a.

(x−
2)i

sa
fac

tor
of(

x3
−2x2

+ax
+2)

.

Fin
da

.

(x−
1) i

s a
fac

tor
of (

x
3 +2x

2 +ax
−5)

.

Fin
d a

.

When (2x 3+ax 2−15x+19) is divided by (x+2),

the remainder is 1. Find a.

When
(2x3
+ax2

−11
x+

4)i
sd

ivid
ed

by
(x−

1),

the
rem

ain
der

is3
.F

ind
a.

(x−
1) i

s a
fac

tor
of (

2x
3 +3x

+a)
.

Fin
d a

.

(x+
1)

is
a
factor

of
(x

3+
4x

2−
x+

a).
F
ind

a.

(x−2) is a factor of (2x 3+ax 2−7x+6).

Find a.

When
(ax

3 +x
2 +5x

+20
) is

div
ide

d b
y (x
+1)

,

the
rem

ain
der

is 7
. F

ind
a.

W
hen

(ax
3−

4x
2+

9x−
35)

is
divided

by
(x+

2),
the

rem
ainder

is
3.

F
ind

a.

When (x 3+2x 2−3x+a) is divided by (x+1),

the remainder is 9. Find a.

W
he

n
(x

3
−
2x

2
+
ax
+
1)

is
di
vi
de
d
by

(x
−
1)
,

th
e
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m
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is

6.
F
in
d
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